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2HHEZ CCTV S X 2el 1,300 1,240 60
201 LBt 1,300 1,240 60
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101 @14 dl 18,073 14,494 3,579
04 JIZHHZE2XNEE S 18,073 14,494 3,579




2 (erel:de)
M- B8-S (3H) - NEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OFz"H 2 Mg EHI o8
60,2403 * 29 * 202 * 33 7,229
OREIASANY 0I2
60,2403 * 10¥ *» 42 * 33 7,229
OADJIR 202 AHYl oged
60,240 * 2% x 30& 3,615
201 gEt24y| 1,150 0 1,150
01 AP 22| H| 1,150 0 1,150
OJt2J] ALY HHl Xt 50,000& * 103 500
OZ2d X4 & &dl ¢ 100,000& = 23| 200
OuWlFIl & &Hdl %2yl
50,000& * 3& x 13 150
OJt22] 20t WA 5,000& = 20094 = 30/100 300
206 M = H| 4,283 4,283 0
01 X2 H| 4,283 4,283 0
OJzsa ¢ stctae] 600
—HE=o 2H el 10,000& ~ 10= 100
— gH & Hz 7 5,000& * 10 = 23] 100
-5 2! 20,000& = 15= 300
~JIE BT S 7Y
5,000& * 55 * 43| 100
OAMEME Z22X48 & 22 200
— E/H € "z 2 10,0008 * 10&E * 23] 200
OAZH oM 2 2,000& * 1,500 3,000
ou=I ¢ ¢ 3,000& * 2074 60
QulFIIE dlede ¢ 1,410& = 3004 423
405 XHAHFI S HI 500 0 500
01 AL 2 E F S| 500 0 500
Oul=2| 2! 500,000& * 1CH 500
HM3s FOUXNXHEH 29 10,673 5,173 5,500
201 et 5,173 5,173 0
01 AP 2t 2] H| 1,680 1,680 0
OFUXNXNEH A22EEFL 2
140,000 * 12& 1,680
02 2324 3,493 3,493 0
OdIIZ, Aol AMz2s, BE82 2
280,000 ~ 12& 3,360
OAl&E ZHI KX Y| 133,000& = 14! 133
405 XHo&HF S HI 5,500 0 5,500
01 XA 2 FF S| 5,500 0 5,500
OFUXNXHEH 2H=S(HEHE20 2)
5,500,000& = 1A 5,500




_ _ _ SHE|
CEH B (BH) - MBEAY - B2 O Ak o8 %@ﬁ HD=2
ZOIRX J18r2 5} 87,986 87,158 828
301 Yt A2 87,986 87,158 828

05 S& -0/ . Btss8A3 82,190 82,190 0
OEHL+Y 75,440
ey 200,0009 * 23% * 12& 55,200
—&02 200,000 * 23 * 200% 9,200
—sloaEsry
20,0002 * 232 « 23] * 12 11,040
Ogr& ¢ 50,0002 * 1359 6,750
09 BALAIH| B A2 5,796 4,968 828
OSEsEo €9 S 34X S A
7,0009 * 69Y * 12% 5,796
2 FOIHAAY 252,500 252,500 0
A2 FomEO ALY 252,500 252,500 0
401 AlEHI 2 =200Y| 252,500 252,500 0
01 Al&HI 250,000 250,000 0
OARE Z=QIHAAYS 250,000
— 2 AZ=2 B2 2 Y 2A
00,0002 * 200m 20,000
—SE02 42 Ul ZA
100,000 * 600m 60,000
—SEDS 52 ZTE ZA
100,000 * 600m 60,000
— 2 T2 OtAR MR ZA
200,0002 * 100m 20,000
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101 Q14 H 38,892 37,516 1,376
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